MA 141, Section 16, Fall 2004
Instructor : Mr. James Cook
Test3

1. (10 points) Let sin (x) + cos (y) = sin (x) cos (y),
d
find l+
dx

2. (15 points) Suppose that we have a parametric curve givenbyx = 3 cos (t)and y = Ssin (t). Find the following
{a) The Cartesian equation of this curve,

dy
b s |
(b) =
(e} Th f 1 - 2 ]
¢} The equation of tangent lineat | ——, —— |
vz V2

3. (10 points) A ladder 5 m long rests against a vertical wall if the bottom of the ladder slides away from the wall
at2 m /5. Then how fast is the top of the ladder sliding down the wall when the bottom is 3 m from the wall?

1
Yi1-x2 !

5. (35 points) Calculate the first derivatives with respect to x of the following
(a) 4 cos (bx), wherebis a constant

MV4+3x

(e) ese (log,, (2 x)}
(d) 10

{e) sin® (x)

(D in(x® + 10)

(g) In (x* sin® (x))

d
4. (10 points) Prove that = (sin~!x) =
X

di
6. (20 points) Caleulate d_y of the following
X

@y=Vxe' @+1"
{b) ¥ = (sin (x))*

EXTRA CREDIT (5 points)
It i
Calculate — (x* )
dx
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